BUSINESS LICENCE FEE SCHEDULE.-
AS OF AUGUST 24, 2004
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The license fee to be paid varies and depends on the financial figures of a
business during the previous year of operations. This information is to be

included in the application for renewal of a business license. Two examples
follow which illustrate how the license fee is calculated.

Example |
Turnover (total income) - $ 85,000.00
LESS Cost of goods/ services (CGOS) - $53,000.00
Gross Profit - $ 32,000.00
Gross Profit as a percentage of turnover
($ 32,000.00/ $ 85,000.00)*100 = 37.00% *
» Profitability of a Business: Medium
» Size of Business: Very Small
* Required Fee Payment: $ 500.00
Example Il
Turnover (total income) - $ 265,000.00
LESS Cost of goods/ services (CGOS) - $ 199,700.00
Gross Profit - $ 65,300.00
Gross Profit as a percentage of turnover
($ 65,300.00/ $ 265,000.00)*100 =24.06% *

Profitability of a Business: Low
Size of Business: Medium

Required Fee Payment: %2 of 1% x $ 265,000.00 = $ 1,325.00



